DADOIMMA D'IANN MDY

300D 1NT? AWPY Dwn MY Awp onywbs ovoon
UKD 22750 5% 72007 W .NTIYm IR UMD T1Ee
DYRYDA .IN1M NI2I0M TOUM FI°T 07IDON NTOT 09 XTI
nR*I0n MYHWw? 12 70 TWRD 1177 900m NI 072 TR
30335 37095 WP IR

DPIN2 YW XN DY 03 MNAD IN°) 36 IWOMA NN
/07721 36 D2% WUW IX ,36 32 DNRY PO %3 29N N ,07NY
/721 36 950m N°22 013 ONRY N

W - 405 D% MY DR 4051348 DYV IDOR NX
W - 48 ,ANENT-92 1 - 13 ,2°38-5N0 - 0°5WI 01N
DYIIWER 12 N°H 531 ApoLnnma W 1 SRS MKNEY
Y Dvvnnn

T K7 0*ID0M NITY 12 7207 MW 3 PO PR DMK
LDRTIPR ARMA TIY AIRZPIY

0°I00MAW 75 L,NPMKD N1IDOT PR DD M OpUwa
D5p2 TS 13 KD 00 .oy A% DH1
K'2K IXD D2, M5 NPMIXD DWENwR PRI A w3
"92Y3 12995 MK 0o

TPA0KY,2 = K = 10 MR 9 1Y 0 - » 7190 955 10K 790N
PRI TINA NLOWY Y222 M3 IR MO 75 777 03 oY

124



11300 1137 TIo

MO TR D311 AYIAY MY NN T YA 03 9
:09°305W N°3ani Navd 2% mw

(TR P NMIZ2 M2ANDI TNY) b -1

(7vM°33 2 7D0 K7 2) 5=

(N33 3 77D X7 3) 3 -3

(VR332 4 717D0 K1 ) 7 -4

(Wnn 7913 NIWKRIT MINT X7 N) n-s5

(@ + W - » NN WY 72HN) v -6

(7 190% AT 7 MINA) % -7

(MW 793 NWATINT NIRA X7 1) n -8

(9 7MDO% AMYT B MIXT) D -9

; (0 750% 2n22 7T © MXT) D -0

.0°5°7 29393 1AMV MR PN 1T Y+2,3,7,K DMK
DR™MP 770 DY A MR .21 00N DX Dwnb npes
,2=2) % 2 nymRan 20Mn 21 .p°h Sxnwn - 0°Don
o Saph nan By v+2,9,1,8 DYMRA DN DX o (=1

.5ya ik Y12 - mynwn nbya
bXPWH DPRTP ) 2,2 DYPMRAN 2571 12 007,27 7207
.29% 9% 2% 09 DX 3R 29977 WHRY (PR

125



P2 1Y

(IRNDANT [0 TIY 73T

7293 = (3=2,3=2) - 22
7 = (D=9 ,9=4) - 49
wha = (0=6,9=1,3=2) - 216

970 PR TIOAD VWD X IDONY AR A9 PO DWW
1217 DR PID1 DX Dapne Tmom ArR RPN LARMPR
PYMIRT MR P Y + 0,0, L8 DMK 0T 27
R3” 711 .7=7,2=2 .(77°3) 7,2 117 MDY PHAd I3 1K
127 7%
6211 = 9w : 1=Y,1=% ,2=13,6=w ™5baw o1
N3 IPT2 .0 7T 20018V KIZND 190NN 28458 1T 1n

STIR IR 1192712 AR NN AR DR Y3903 130
D'7'DT ANDO MDY -1 70N

TR D°%1) Mynwn Mbya 0°%n% mxan MIDoR PR 1957

N30T IMNRY ¥ + 2,3 ,7 R DPDIRD MY (1Y i)

.0°mn
:NIRMINT IDON W 1onY

MY ANDN

g - ? 7PN Mo NTMT - mb - 15
TTh wx1 5w Sop w1 - WX - 76
_J‘ - : D7 OY WINPT - W - 97
" DMY IMWN WNT - O - 58
‘f: = g mn 5w amE uwrnt - mn - 85
Py N TIR DOYMNINT - TR - 74
D=9 TR DY DX

126



130 11237 TI0

NI NN - (MWW D - 13
LR-NY PAYN 1PNT - W - 65
DAR 1UMT - DR - 30
WD NPNT - T -974
BTNt - 97 - 41
PHY pRYC DX WPNT - PHY - 687

.0oM¥Y3 12°wni Ny

99T LI IMWT = 90 IR D°9°R N 0ONYIa DY DX
R - 91 :XnaTD) Mynwn mbya nrad marn o e
mynwn XIZND 1% oxM 9D 1 A wn wIn Yx L5
Y+ 23,7 ,8 DMK 90 IR DAR MR 7012 103 .97 70k
DR IDAY 19930 1RY 7191 0 IX 72N YR 700 210
(1913 90 YR pnw ) 91 ,(vaxmm) PR D - Y Y
472 XXPIY HDMR DTan

.MOYDI XYY DPYMR 1T 009w 190w 0N 927
n9nb ARAT N Y W IR PR - 2 70 120 67 I0oni
Y MW AR LR 1DINA 1URTR RpY NLwDn
DR .07°37p DY MW S0 A0 103y 70 DR 03°Dpn 11 DR
ST 79O I9R% 19 DX APV 67 0NN

.DINEYI 1DPWHT KT TIYY M2y Ny

<Y R 7% - ey 9502 DY DPWHIT WA

SNy NNdN

D - 0 ‘31
D=

9 =2 -32
2 =3

T -4 - 48
N.=.5

v -6 - 67
V=t T

o - 59
b -9



